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i, , agree to neither give nor receive any help on this exam from
other students. Furthermore, | understand that use of a calculator on this exam is an academic
misconduct violation. ! also understand that failure to cover my answers is academic misconduct: it is
important that | maintain the integrity of my work and that | do not make it available to other students.

Signed

NoT 1. Use the graph below of Elbia's PPF to answer the following question.
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Suppose that Elbia is currently producing 37 units of Good Y. If Elbia decides to produce one
more unit of Good Y than we can measure the opportunity cost of this additional production as
approximately equal to:

a. 2unitsof Good Y.
b. 20 units of Good Y.
@ 0.5 units of Good X.
d. 28 units of Good Y.



NoT 2. Consider a market where an effective price floor has been enacted. Which of the following
HAR D statements is true given this price floor?

N
Producers of this good will benefit from the enactment of this price ﬂoor.T Ps 1
b. Consumers will capture part of the producers' original producer surplus with the
enactment of this price floor. P ardmees copbue fwihr =05
c. Since the enactment of this price floor results in consumers gaining'a portion of the _
original producer surplus, consumers will support the enactment of this price floor. I~
d. Relative to the initial equilibrium price, the enactment of this price floor will result in

consumers paying a lower price for the good. F ¢ 3

D
&
goME 3. You are given the following information:
WorK
& Price Quantity Quantity Supplied
Demanded

$1 20 10

$2 16 13

$3 12 16

$4 8 19

Given the above information and holding everything else constant, how many of the following
statements are true?

e The equation for the demand curve in x-intercept form is: Q =6 — (1/4)P. F ( See wav k
e The equilibrium price must be greater than $2. T~
e The equilibrium quantity must be less than 16 units. T

i}
a. One statement is true. M= 4

b) Two statements are true. a ZmKt G
e e, > Pt
d. None of the statements are true. { [ - (..TI'_ )20.,,‘6,
(s q‘):e-(‘/‘r)f’ﬂudmw{' . & 6;{
Pzt Dable says Q72720 N o pual ! NotThe equedivn
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Use the information below to answer the next two (2) questions.

Suppose there is a market with three individuals. We know their individual demand curves and
they are given by the following equations where P is the price of the good and Q is the quantity
of the good:

Bob's demand curve for the good: Q =10-P
Ann's demand curve for the good: Q =10 - 2P
Tom's demand curve for the good: Q =4 — (1/2)P

SoMé 4. Given this information and holding everything else constant:

THouHT
(&

If the price is between $5 and $8 then only Bob and Tom will have a demand for the

=~ good. |

b. Ifthe price is between $5 and $10 then only Bob and Ann will have a demand for the
good. F

c. Ifthe price is between $5 and $8 then only Tom and Ann will have a demand for the
good. F

d. Ifthe price is less than $8 then all three of these individuals will have a demand for the

good. leT
f BoB F P Arn P Tom 10 N & Tust ';:1- —
i g g o Bebilomm
5 — - ¥ [ = o o« Bablom, Ann

{

[ S 10 Q i ¢ & 6%

5. Given this information and holding everything else constant, how many of the following
statements are true?

Z
e The market demand curve will have thrds kink points. F
e One of the kink points for this market demand curve is (Q, P) =(6,5, 5 ) T

e Ifthe price of the good in the market was $4 per unit then the total quantity demanded at
this price would be 14 units. [~

. l-f'the price 15 lewer than $4.50/henall three of these individuals W/l bw.[ +he -~

the good. -J* \J

a. One statement is true.

|,€ P=4

Two statements are true. Py 6)(306 . é
c. Three statements are true. Q - 2
d. Four statements are true. A =

Qrom = %
’.___.__,_._.———"’

Grmae =10



H’A"ZD 6. Ann can make 100 dozen cookies in a day or 50 pies in a day or any combination of cookies
and pies that lie on the straight line that contains these two points. Joe can make 40 dozen
cookies in a day or 50 pies in a day or any combination of cookies and pies that lie on the
straight line that contains these two points. Given this information and holding everything
else constant, if Joe and Ann decide to trade with one another then:

a. Annis willing to pay 12 dozen cookies for 5 pies and Joe is willing to accept this offer. X
Joe is willing to accept 8 dozen cookies for 5 pies and Ann is willing to make this offer.
c. Joe is willing to pay 3 dozen cookies for 5 pies but Ann is not willing to accept this offer X
d. Ann is willing to sell 5 pies for 6 dozen cookies but Joe is not willing to accept this offer.
~ Tt buying codfeces
fan e ¢ e T buphgeads

f " i
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Lo, Bown sond o mandeing Cooleits 2 1P «  Ann buyingpres

She nol buy coole'es X ) ;
b, 5 per @ Tulr'%awwf‘ i B2 YC : 28
© B pirpustpnis S 97106 e
0. Joe grrddd piuledng pies = J1¢ | Lot Selling pres ~3

dotrnot buy pits X
d. #na sells wu?bq { nel-pies X

Stnatett 7. Which of the following statements about a model are true?

Fetuee

A model represents reality. = APSfva chim af veals

e A model is a way to explore a question we have about the world. T

e To be helpful a model must be able to fit the existing data as well as the incoming data. T
e Over time a model may be discarded once new data becomes available. T~

a. One statement is true.
b. Two statements are true.
@ Three statements are true.
. Four statements are true.



Consider the following PPF graph for the next two (2) questions depicting chocolate bars on the
vertical axis and brownies on the horizontal axis.
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50M€ 8. Given the above graph and holding everything else constant, which of the following points is
Wory feasible but inefficient? 4 /,%) Mwside PPF = )é{&r;l:/t;

2, 3 brownies and 3 chocolate bars :

b. 2 brownies and 7 chocolate bars d/) F}Céi =15 D(=)1=73 C/.f) T hS
1 brownie and 8 chocolate bars (ﬁ C) - (]‘ rZ 5—) SFrom PP

d. 1.5 brownies and 8 chocolate bars o
o C1.5,2) is beyond (FE =

Mot ﬁ,‘r.% le

gee #¥
JeME 9. Given the above graph and holding everything else constant, which ef the following points is
Wi not feasible?

a. 2 brownies and 5.5 chocolate bars }f (2,6) 75 o PPFThen (2, 55) s ﬁ!'%f’k‘ﬁhr"j

b. 2.5 brownies and 4.5 chocolate bars e/t Y
c. 1brownie and 8 chocolate bars ~eas ible t\'tlﬁ?./\e"fcge’f F ?)
@ 3.5 brownies and 2 chocolate bars Algf Fearible

b) IL]L($=‘-2.S’ =>C—; Iz__gcz.s") - /2,?‘5—: q's__
(2., 4.5) /v on PPE

d) 7f8=3.5D C=12- 3(3.5) = LS
(3.5,2) [ees ée/au) PPI-



Eﬁg"f 10. Consider a good with a downward sloping demand curve. Which of the following changes
will cause the demand curve to shift to the right?

a. Incomes increase and the good is an inferior good. XD $W.H' rle H’ _
b. The price of labor, an input in the production of the good, decreases. X S Skr‘h i (SW
c. The price of the good decreases. X CamsermMovgmsud alonsj)

: ; . .. N AN
@ The price of a substitute good in consumption increases. / P X

A1 ‘f 11. Laura would like to go on vacation for two days. If she goes on vacation, she will have to pay
$200 for a flight, $150 for a hotel and $50 for food. If Laura does not go on vacation she will
spend $50 on food during this two day period of time. Furthermore, if Laura goes on vacation
she will have to take unpaid vacation days. If she were to work these two days, she would
make a total of $300. What is the opportunity cost of Laura's vacation?

o<
a. $700
$650 -/ 200
C\? $500 ﬁ&&r
d. $0 Hodel (50

fr2d  —

et B
(50
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Use the following information to answer the next three (3) questions.

The market for peanuts can be described by the following demand and supply equations where P
is the price per unit of peanuts and Q is the number of units of peanuts:

Market Demand for Peanuts: P = 800 — (1/2)Q
Market Supply of Peanuts: P = (1/2)Q - 600

12. Given this information and holding everything else constant, how many of the following
statements are true?

a.

b

Suppose that the government does not intervene in this market in any way. The market
will sell the good at its equilibrium price. T

Intervention in this market with an effective price support program will increase
consumer surplus.

Suppose the farming year turns out to be a very good year for farming and therefore
overall production of peanuts increases at every price. Our economics model and the
provided information ' would predict that overall farm income would
fall given this change in production. T

An effective price floor or government subsidy in this market would increase the overall
level of farm income. T

One statement is true.
Two statements are true.

&) Three statements are true.

d.

Four statements are true.

13. The government decides to implement a price support program in this market. The
government sets the price floor at $200 per unit of peanuts and agrees that it will purchase
any surplus that occurs at this price floor price. Given this information and holding
everything else constant, how many of the following statements are true?

Consumer expenditure on peanuts with this price floor program will be $24,000. X # »40,000 F
Government expenditure on peanuts with this price floor program will be $80,000."/

If farmers have a very good year and the overall production of peanuts increases at every

price, then government expenditure on this price floor program will increase. 7~

If farmers have a very good year and the overall production of peanuts increases at every

price, then consumers with this price floor program will consume a smaller quantity of

peanuts.

One statement is true.
Two statements are true.
Three statements are true.
Four statements are true.
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14. Suppose the government decides to implement a price guarantee program instead of a price

support program in this market. The government decides to guarantee farmers a price of $150
per unit of peanuts that they sell. Given this program and holding everything else constant,
the government will need to pay farmers a subsidy of per unit of peanuts sold when
this price guarantee program is implemented.

a. $50
b. $75

$100
d. $125

P= go0— L& Coo-+Q= 269 -60o
P = L Q* 600 J400=e
fe = 100
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=0 =» (Y °=1200 st 000
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STRAIGHT 15. Assume that a country is debating whether to produce at point A or point B on their

production possibility frontier which is depicted in the following graph.

Consumer Geod A
Production F

Capital Good
Production

Suppose that a primary goal for this country is to have strong economic growth. Given this goal
and holding everything else constant, which of the following statements will be most successful
in helping this country reach its goal?
_ _ . N.noptB hunwcl(tpmalu._ci’v? _
a. This country will grow faster if point A is chgsen as the production point since high
_ levels of current consumption will likely lead to high levels of future consumption. X’
@ This country will grow faster if point B is chosen since enhanced capital good production
" this year will enhance the future production possibilities of this country.” |
c. The selection of point A or point B is irrelevant in determining this country's future
economic growth. This country should choose its production point this year by deciding
which point yields the greatest level of satisfaction for the country.
d. The country will grow faster if point A is chosen since it provides for a high level of
capital good production while also providing a high level of consumer good production. X

5 A{\{ 16. Which of the following will NOT shift the demand curve for brownies to the right?

a. anincrease in the price of cupcakes, a substitute for browniesX S trbvomies O T prsht
b. adecrease in the price of milk, a complement of brownied 5h brivmies Db oYt
an increase in the price of brownies ¢ dufes @ nmaremuenit 400~y Dcurve
. an increase in income for all buyers and assuming that brownies are normal goods X

_{}“/f-r Lrovmicd bﬁ/ﬁ#

10



NoT ®2 17. Consider the graph below which depicts the market for gadgets. D1 and S1 are the initial
[Fared demand and supply curves, respectively. S2 is the new supply curve once an excise tax is
implemented in this market.

52 51

Price of Gadgets
A Cri1 2PTY
rf
B =
C 4

— Qe«c) > ( ¢E)

PT]

<]

I D1

F G Quantity of Gadgets

Given the above information and holding everything else constant, the economic incidence of
this excise tax will fall more heavily on consumers than producers if:

Distance (B — C) is greater than distance (C —- E). v/
b. Distance (A — C) is greater than distance (C —I). X
c. Distance (A- B) is greater than distance (C — H). X
d. Distance (C — E) is greater than distance (H —I). X

EAS ‘[ 18. Consider the market for chocolate to be initially in equilibrium. How would an increase in
the price of coco beans, an input in the production of chocolate affect the equilibrium price
and quantity of chocolate? Given this information and holding everything else constant,

a. the equilibrium price of chocolate will increase and the equilibrium quantity of chocolate

will {ficreaseX

the equilibriun‘l))rice of chocolate will increase and the equilibrium quantity of chocolate

will decrease.

c. the equilibrium price of chocolate will decreaséand the equilibrium quantity of chocolate

will increase/S

d. the equilibrium price of chocolate wiy, decreasexand the equilibrium quantity of chocolate
-

will decrease.

[

/

11



TH1S 1S 19. Consider the following weights for the midterm, final and homework as stated in the
Haw Syllabus:

JouR Midterm 1: 25%
WELGHTED Midterm 2: 25%
Score (f Final 40%
CAACULATED— 5 Homework Assignments: 10%
Noi Hﬂﬁpril receives the following grades on her assignments and exams:
_ ¢o 6o Yo 6o
Midterm 1: 60% X2 Kw o ox Y ./0 fzj
Midterm 2: 60% e +c. a4 coF -
+ 2+ ¢
Final 80% 5 EAEE P mﬁ‘)
5 Homework Assignments: 60% Sec

What final percentage grade (her total weighted score) will April receive given the above

weights and her scores? 70
I o
a. 64% 6%
b. 73%
) 68%
d. 100%

Use the graph below of Delphia's production possibility frontier to answer the next question.

Delphia's FPF

Good Y

0CQMW€W' °7£X

GoodX

5&'& ‘[ 20. As you move downward along Delphia's PPF from point A toward point B, the opportunity
cost of producing one more unit of Good X:

a. decreases.
increases.
c. stays constant.
d. may increase, decrease, or remain constant.

12



NoT Toe  21. Consider the following demand curves for April and Erika for gammy bears. Suppose April
BAD and Erika are the only consumers of gummy bears.

April's Demand Curve : Q=2 -P
Erika's Demand Curve: Q=4 -P

Suppose Erika and April consume a total of 4 gummy bears in this market. Given this
information and holding everything else constant, what is the market price for a gummy bear?

&ﬁo @n + Qe = Crazac

$1
c. $2 U U
g 5 (2-ry+ (¢-r) = %
6 -2r =9
2P =12

p=1

NoT 22. Consider the market for widgets which is initially in equilibrium and can be described by the
following demand and supply curves where P is the price per widget and Q is the quantity of

122 :
BAD widgets:

Market Demand Curve: P =20 — (1/2)Q
Market Supply Curve: P =2 + (1/2)Q

The government decides to implement an excise tax in this market and after the implementation
of this tax the quantity of widgets sold in this market is 14 widgets. Given this information and
holding everything else constant, the excise tax per unit is equal to:
/ sT y. T ;
a. $2 per unit Ve { =]
] Y%
b. $3 per unit / S &e

@ $4 per unit
d. $5 per unit fpe T-13

Pt = 9

Demand /967—';)0—12-(/79
fer"/ )0’7";/3

ﬁ’//’/}' :pM{_: 27‘-';?(_/‘/)
Pret za+f=1

B
A vy
0

& %M/unl'f': /OT’/M’L
= /3-9= #7/6'"71

13
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Answer the next three (3) questions based on the following information.

Suppose there exists a market for iPhones. The supply and the demand curves in this market are
given by the following equations where P is the price per iPhones measured in dollars and Q is
the quantity of iPhones:

Demand Curve: P = 1200 - 3Q
Supply Curve: P =Q +400

23. Given the above information and holding everything else constant, find the equilibrium price
and quantity in this market.

a.

() (Q, P) = (200'600)
C.

d.

(Q, P)=(100,500) _

(Q, P) = (150, 750)
(Q, P) = (250, 650)

[200-3@ = @ + 400

Lo =4

Qe = 200 =2 bnl«, (&) wfdrsll/e >-/)v/;6én
But, Pe = Rbor¥o= 600

24. Suppose the demand curve for iPhones does not change. Apple, the manufacturer of iPhones,
improves the efficiency of the factories that produce iPhones. The new supply curve for
iPhones is represented by the following equation:

Supply Curve: Q=P —200

Given this information and holding everything else constant, what would be the change in the
equilibrium number of iPhones relative to the initial equilibrium quantity of iPhones?

a.

b.

an increase of 10 iPhones
an increase of 25 iPhones

@ an increase of 50 iPhones

d.

an increase of 75 iPhones

New 2

Mr«ltm

b pEiz00- 207
cre ®=P-2 200 o I°= CP’LMO

‘- &r200

"

4@
&/
~ 250-200 = 7'of 50

14



5/1’5 "[ 25. Which of the following expressions accurately measures the value of consumer surplus, CS,
in this market after this technological change?

CS = (1/2)($1200/iPhone - $450/iPhone)(250 iPhones) v
b. CS=(1/2)($1200/iPhone - $600/iPhone)(200/iPhones)
c. CS=(1/2)($1200/iPhone - $450/iPhone)(250 iPhones — 200 iPhomf&)
d. CS=(1/2)($450/iPhone - $200/iPhon’e(’(250 iPhones)

[)Ccvlz 250
p= (200 - 3(250)
P = 1200- 750
p = 450

s = L Craoo-#50)(257)

EXAM CONTINUES ON NEXT PAGE!

15



E A’f"[ 26. Jon is currently not producing any cookies. When Jon produces his first dozen cookies he
finds that he must decrease his pie production by 1 unit. When Jon produces his second
dozen cookies he finds that he must decrease his pie production by 1.5 units. When Jon
produces his third dozen cookies he finds that he must decrease his pie production by 3 units.
Given this information and holding everything else constant, which of the following graphs is
the best qualitative representation of Jon's production possibility frontier for cookies and

pies?
Cookies Gt Cookies Graph B V“ C{’ f\
‘fc"l B
(\[|-|‘)— 1.9 ¢+
(r1A$) =3 =)
, i
Plos S Fies i J E
Cookies SrephiC Cookies e { : . )
] 2 3
Pies Pies
a. Graph A
b. Graph B
c. GraphC

Graph Ds T

27, ( b) 5T
S
b
CTIZPT) ¢ 7> rr| € —<ricperl @ criPrl

5 omE  27. Consider the excise tax described in class. For a given excise tax we can predict that
THsY L7 comsumer tax incidence will be greater than producer tax incidence when:

a._Both the demand and the supply curves are more inelastic.
b. /The demand curve is inelastic and the supply curve is elastic.
c. The demand curve is elastic and the supply curve is inelastic.
d. Both the demand and the supply curves are more inelastic.

16



NoT

28. Consider the market for ramen to be initially in equilibrium. Ramen is an inferior good. How

[HA42D would an increase in income and a decrease in the number of sellers affect the equilibrium

NoT

HAt D

quantity of ramen and the equilibrium quantity of ramen relative to the initial equilibrium
price and equilibrium quantity? Given this information and holding everything else constant,

a. the equilibrium price of ramen is indeterminate and the equilibrium quantity of
_ ramen increases.x
Q’j the equilibrium price of ramen is indeterminate and the equilibrium quantity of

ramen decreases.

c. the equilibrium price of ramen increases and the equilibrium quantity of ramen is
indeterminate.

d. the equilibrium price of ramen decreases and the equilibrium quantity of ramen is
indeterminate.

P is mdetummete rel- 1 1)
QL red R Q,

29. Consider a market where the government has enacted an effective price ceiling. The market
demand and supply curves can be described by the following equations where P is the price
per unit and Q is the quantity of the good:

Market Demand Curve: Q =200 -2P =p XP= 300~ CD
Market Supply Curve: Q = (1/3)P — 10 P=10Q~ =Q

The price ceiling has been set at $60 per unit.

Given this information and holding everything else constant, the value of consumer surplus with
this price ceiling is: 10

a. $1600 | Ov
b. $400

c. $175 95
(E) $375
Lo~
e |
H=%560)-10 e
&’= 20-10=0

I\F & =0 = P,frdﬁm Demand cune > ]O =200 -2

LP =190
P95
C35= 2C00-95)(10) + (d5-44)(10) 17

CS =4 () Uo)+ 35C0)= 2§ +350 =3F8



Use the following information to answer the next THREE (3) questions.

Bob and Sue are two individuals who produce brownies (B) and cookies (C). Bob can produce
either 100 Cookies per day or 200 Brownies per day or any combination of brownies and cookies
that lie on the straight line containing these two given points from his available resources and
technology. Sue can produce either 300 Cookies per day or 300 Brownies per day or any
combination of brownies and cookies that lie on the straight line containing these two given
points from her available resources and technology. Use this information and the following
information to answer this set of questions.

(1) One kink point on the joint PPF can be represented in the form of (Brownies,

Cookies). The coordinates for this kink point are (200, 300).
(2) Assume that each segment of the joint PPF is linear.

SQ:M €  30. Given the above information and holding everything else constant, which of the fo llowing
vagic points (Brownies, Cookies) is not feasible for Bob and Sue to produce'7

I Sve aﬁ
a. (Brownies, Cookies) = (150, 320)." e 57 o '3 g
b (Brownies, Cookies) = (325,175)
(Brownies, Cookies) = (410,92)
. (Brownies, Cookies) = (24,380)

'p‘ff&gvu)r f:fowd'f’loF ¢ = = 460— —23 -
wer seppmrt of TontpPF ! C= o~ B K—I‘M;[:;Z:r;:y_-’m-l-?ru/a F

J‘MW'} ffr
(200,300)

4)if B= IS'u = on PPF = 13_:-; ,Eeaﬂs,t(u P
¥ 3205 C on PPE= 2 3ible A)iLA=24=D Cn -
?) ,'-L,Lp3= oD C=90 = . €=G2 Nt feanble )if v 0: 3pv Feanble

31. Bob develops a new baking techmque that allows him to increase the amount of Brownies he
No I can bake per day by 100 Brownies if he only produces Brownies. This technique also allows
/ tARD him to increase his Cookie production by 150 Cookies per day if he only produces Cookies.
Assume that Bob's PPF is still linear. Sue does not have access to this new baking technique.

Given this information and holding everything else constant,

a. Sue can absolutely produce more Cookies than Bob and Sue has the comparative
advantage in the production of Brownies® |~
.Bob should specialize in the production of Brownies and Sue should specialize in the
production of Cookies. ¥
c. Ifboth individuals only produce Cookies then the maximum amount of Cookies that can
be produced is 350 Cookies, 250 + 300 = 5§80
d. This change in baking technique will not change the coordinates for the kink point on the

joint PPF. X D fmately Awkwkm/c/w,nh?{
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32. Consider Bob and Sue's joint production possibility frontier prior to the change in baking
technique described in the last question (go back to the original information). How many of
the following statements are true given this PPF and holding everything else constant?

e Ifyou consider the entire joint PPF, then the opportunity cost of producing a brownie gets p=
bigger as you move down along the joint PPF. OC isL tovfn Then OC)s [covteia s:«;/wr_’ /
e The top segment of the joint PPF can be written as C =400 — (1/2)B. T
e If(Brownies, Cookies) = (275, 225) is produced then Sue will produce 225 Cookies and
75 Brownies.
e The first 150 Cookies that are produced should definitely be produced by Sue. T~

a. 1 of these statements is true

b. 2 of these statements are true

c. 3 ofthese statements are true
@ 4 of these statements are true

NeT o 33. Consider a market where the government has enacted an effective price floor. Given this
A4 information and holding everything else constant, how many of the following statements are
true?

¢ In this market there will be a surplus of the good at this price floor price. T

e In this market the short side of the market will be the supply side. No Demand F
e In this market this policy will enhance consumer surplus. F

e In this market this policy will increase total surplus. [~

e In this market the price the good sells for will be less than the equilibrium price in this
market if there is no price floor.

{ -
a. Four of these statements are true. : ’rﬂ?‘fffﬂ’v
b. Three of these statements are true.
¢. Two of these statements are true.

One of these statements is true.

722

.

> |

D
: )

END OF EXAM!
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